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$FWH�QHFHVDUH�SHQWUX�HOLEHUDUHD�DYL]XOXL�GH�XUEDQLVP��

� &HUHUH�WLS�
� $FWXO�GH� LGHQWLWDWH� VDX� vQUHJLVWUDUH� ILVFDO � D� VROLFLWDQWXOXL� �EXOHWLQ�GH� LGHQWLWDWH� ��

FDUHWH�GH�LGHQWLWDWH���FHUWLILFDW�GH�vQUHJLVWUDUH�OD�UHJLVWUXO�&RPHU XOXL��
� 3ODQ�GH�VLWXD LH��VFDUD��������
� 'RYDGD� DFKLW ULL� WD[HL� DYL]� GH� XUEDQLVP� �� �������� OHL� �� VH� DFKLW � OD� FDVLHULD�

'LUHF LHL�GH�)LQDQ H�úL�%XJHW�/RFDO�5RPDQ��FDPHUD����
� 'RYDGD� DFKLW ULL� WD[HL� SHQWUX� RFXSDUHD� WHUHQXULORU� FX� FRQVWUXF LL� SURYL]RULL� ��

SDQRXUL� SXEOLFLWDUH� úL� GH� DILúDM� �� �������� OHL� �� OXQ � � ��PS� �� VH� DFKLW � OD� FDVLHULD�
'LUHF LHL�GH�)LQDQ H�úL�%XJHW�/RFDO�5RPDQ��FDPHUD����

� 'RYDGD�DFKLW ULL�WD[HL�GH�SXEOLFLWDWH�����������OHL���PS�VDX�IUDF LXQH�GH�PS���DQ���
VH�DFKLW �OD�FDVLHULD�'LUHF LHL�GH�)LQDQ H�úL�%XJHW�/RFDO�5RPDQ��FDPHUD����


